
 

 

 

CDS MATHEMATICS MODEL QUESITON: (01) -2023 (MCQS) 

                                                                                                                                                  

INSTRUCTION: Read questions carefully. For each wrong answer, one-third (0.33) of the marks assigned 

to that question will be deducted. Each question contains (1) marks. / 

 

1. When a number is divided by 56, the remainder 

obtained is 29. What will be the remainder when 

the number is divided by 8?

 

(a)  4   (b) 5 

(c) 3   (d) 7 

2. A student was asked to multiply a number by 
 

 
 

but he divided that number by 
 

 
. His result was 

10 less than the correct answer. The number was 

:
 

 
 

 

 

(a)  10   (b) 12 

(c) 15   (d) 20 

3. A number being divided by 52 gives remainder 

45. If the number is divided by 13, the remainder 

will be:

 

(a)  5   (b) 6 

(c) 12   (d) 7 

4. A boy on being asked what 
 

 
 of a certain fraction 

was made the mistake of dividing the fraction by 
 

 
 and so got an answer which exceeded the 

correct answer by 
  

  
. Find the fraction:

 

 
 

 
  

  

 

(a)  
 

 
   (b) 

 

 
 

(c) 
 

 
   (d) 

 

 
 

5. The number 1, 3, 5, 7…..99 and 128 are 

multiplied together. The number of zeros at the 

end of the product must be:  

 

 

 

(a)  19   (b) 22 

 (c) 7   (d) Nil 

6. The divisor is 25 times the quotient and 5 times 

the remainder. If the quotient is 16. The dividend 

is:

 

(a)  6400   (b) 6480 

(c) 400   (d) 480 

7. The product of two numbers is 9375 and the 

quotient, when the larger one is divided by the 

smaller, is 15.The sum of the numbers is :

 

(a)  395   (b) 380 

(c) 400   (d) 425 

8. If 78*3945 is divisible by 11 where * is a digit, 

then * is equal to : 78*3945

*  

(a)  1   (b) 0 

(c) 3   (d) 5 

9. The digit in unit’s place of the product 

                             is 

                             

(a)  0   (b) 2 

(c) 3   (d) 5 

10. The number 1, 2, 3, 4, ….1000 are multiplied 

together. The number of zeros at the end (on the 

right) of the product must be:

 

(a)  30   (b) 200 

(c) 211   (d) 249 

11. A man leaves Rs.8,600 to be divided among 5 

sons, 4 daughters and 2 nephews, if each 

daughter receives four times as much as each 

nephew and each son receives five times as 



 

 2 | MOB: 9795977779, 9795977776 LUCKNOW, DEHRADUN ‘COME TO LEARN…GO TO SERVE…! 
 

much as each nephew, how much does each 

daughter receive?

 

(a)  Rs.100   (b) Rs.600 

(c) Rs.800   (d) Rs.1000 

12. The ratio of present age of two brothers is 1 : 2 

and 5 years back the ratio was 1 : 3. What will be 

the ratio of their age after 5 years?

 

(a)  1 : 4   (b) 2 : 3 

(c) 3 : 5   (d) 5 : 6 

13. Four years ago, the ratio of the age of A and B 

was 2 : 3 and after four years it will becomes 5 : 

7 Find their present age. A B 

 

(a)  36 years and 40 years   

(b) 32 years and 48 years 

(c) 40 years and 56 years    

(d) 36 years and 52 years 

14. The students in three classes are in the ratio 2 : 3 

: 5. If 40 students are increased in each class, the 

ratio changes to 4 : 5 : 7. Originally. The total 

number of students was:

 

(a)  100   (b) 180 

(c) 200   (d) 400 

15. In 30 litres mixture of acid, the ratio of acid and 

water is 2 : 3. What amount of water should be 

added to the mixture so that the ratio of acid and 

water becomes 2 : 5?

 

(a)  10 litres   (b) 15 litres 

(c) 18 litres   (d) 12 litres 

16. A and B have monthly incomes in the ratio 5 : 6 

and monthly expenditures in the ratio 3 : 4. If 

they save Rs. 1800 and Rs. 1600 respectively, 

find the monthly income of B / A B 

B  

(a)  Rs.3400  (b) Rs.2700 

(c) Rs.1720   (d) Rs.7200 

17. Divide Rs.7,500 among A, B and C such that 

A’s share to B’s share is in ratio 5 : 2 and B’s 

share to C’s share is in the ratio 7 : 13. How 

much will B receive? A,B C 

A B 

B C 

B  

(a)  Rs.1,400  (b) Rs.3,500 

(c) Rs.2,600  (d) Rs.7,000 

18. The ratio of income of P and Q is 3 : 4 and the 

ratio of their expenditures is 2 : 3. If both of 

them save Rs. 6000, the income of P is P 

Q 

P  

(a)  Rs.20000  (b) Rs.12000 

(c) Rs.18000  (d) Rs.24000 

19. The ratio of the first and second class train fares 

between two stations is 3 : 1 and that of the 

numbers of passengers travelling between the 

two stations by first and second classes is 1 : 50. 

If on a particular day. Rs. 1,325 are collected 

from passengers travelling between the two 

stations. Then the amount collected from the 

second class pasengers is

 

(a)  Rs.1,250  (b) Rs.1,000 

(c) Rs.850   (d) Rs.750 

20. The ratio of the number of ladies to that of gents 

at a partly was 3 : 2. When 20 more gents joined 

the party, the ratio was reversed. The number of 

ladies present at the party was

 

(a)  36   (b) 32 

(c) 24   (d) 16 

21. A person rent Rs. 5,000 partly at the rate of 4 

percent and partly at the rate of 5 percent per 

annum, at simple interest. The total interest after 

2 years is Rs. 440.The sum of money rent at each 

of the above rates is to be divided in the 

ratio:

 

(a)  4 : 5   (b) 3 : 2 

(c) 5 : 4   (d) 2 : 3 

22. In what time will the simple interest be 2/5 of the 

principal at 8 percent per annum?
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(a)  8 years   (b) 7 years 

(c) 5 years   (d) 6 years 

23. Rs. 500 was invested at 12% per annum simple 

interest and a certain sum of money invested at 

10% per annum simple interest. If the total 

interest on both the sum after 4 years is Rs. 480, 

the latter sum of money is:

 

(a)  Rs.450   (b) Rs.750 

(c) Rs.600   (d) Rs.550 

24. A money lender finds that due to fall in the 

annual rate of interest from 8% to  
 

 
 , his 

yearly income diminishes by Rs. 61.50. His 

capital is

 
 

 

 

(a)  Rs.22400  (b) Rs.23800 

(c) Rs.24600  (d) Rs.26000 

25. A lends Rs.2500 to B and a certain sum to C at 

the same time at 7 % annual simple interest. If 

after 4 years A received interest of Rs. 1120 

from B and C, the sum rent to C is A 

C 

A 

B C 

C  

(a)  Rs.700   (b) Rs.6500 

(c) Rs.40000  (d) Rs.1500 

26. If the difference between the compound interest, 

compounded evergy six months, and the simple 

interest on a certain sum of money at the rate of 

12% per annum for one year is Rs. 36, the sum 

is:

 

(a)  Rs. 10,000  (b) Rs. 12,000 

(c) Rs. 15,000  (d) Rs. 9,000 

27. If the difference between the compound interest 

and simple interest on a sum of 5% rate of 

interest per annum for three years is Rs.36.60, 

then the sum is:

 

(a)  Rs.8000  (b) Rs.8400 

(c) Rs.4400   (d) Rs.4800 

28. At a certain rate per annum,j the simple interest 

on a sum of money for one year is Rs.260 and 

the compound interest on the same sum for two 

years is Rs.540.80. The rate of interest per 

annum is

 

(a) 4 %   (b) 6 % 

(c) 8 %   (d) 10% 

29. The compound interest on a certain sum of 

money at 5% per annum for 2 years is Rs. 246. 

The simple interest on the same sum for 3 years 

at 6% per annum is

 

(a)  Rs.435   (b) Rs.450 

(c) Rs.430   (d) Rs.432 

30. A cetain sum of money amounts to Rs.2,420 in 2 

years and Rs.2,662 in 3 years at same rate of 

compound interest, compounded annually.The 

rate of interest per annum is:

 

(a)  6%   (b) 8% 

(c) 9%   (d) 10% 

31. A daily-wages labourer was engaged for a 

certain number of days for Rs.5,750; but being 

absent on some of those days he was paid only 

Rs.5,000. What were his maximum possible 

daily wages?

 

(a)  Rs.125   (b) Rs.250 

(c) Rs.375   (d) Rs.500 

32. A and B can complete a piece of work in 15 days 

and 10 days respectively. They contracted to 

complete the work for Rs.30,000. The share of A 

in the contracted money will be: A B 

A  

(a)  Rs.18,000  (b) Rs.16,500 

(c) Rs.12,500  (d) Rs.12,000 

33. A does 
 

 
 of a piece of work in 20 days; He they 

calls in b and they finish the remaining work in 3 

days. How long B alone will take to do whole 

work? A 
 

 

B 
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B 

 

(a)    
 

 
days  (b) 37 days 

(c) 40 days   (d) 23 days 

34. If A and B together can complete a piece of 

work in 18 days, A and C together in 12 days 

and B and C together in 9 days, then B alone can 

do the work in A B 

A C B 

C B 

 

(a)  18 days   (b) 24 days 

(c) 30 days   (d) 40 days 

35. A skilled, a half skilled and an unskilled labourer 

work for 7, 8 and 10 days respectively and they 

together get Rs.369 for their work. If the ratio of 

their each day’s work is 
 

 
  

 

 
 
 

 
, then how much 

does the trained labourer get (in rupees)?

 

 
  

 

 
 
 

 

 

(a)  164   (b) 102.50 

(c) 201.50   (d) 143.50 

36. Three persons undertake to complete a piece of 

work for Rs.1200.The first person can complete 

the work in 8 days, second person in 12 days and 

third person in 16 days.They complete the work 

with the help of a fourth person in 3 days. What 

does the fourth person get?

 

(a) Rs.180   (b) Rs.200 

(c) Rs.225   (d) Rs.250 

37. Two pipes can fill a tank with water in 15 and 12 

hours respectively and thired pipe can empty it 

in 4 hours. If the pipes be opened in order at 8, 9 

and 11 a.m. respectively, the tank will be 

emptied at

 

(a)  11 : 40 a.m.  (b) 12 : 40 p.m. 

(c) 1 : 40 p.m.  (d) 2 : 40 p.m. 

38. A tank can be filled by two pipes in 20 minutes 

and 30 minutes respectively. When the tank was 

empty, the tow pipes were opened. After some 

time, the first pipe was stopped and the tank was 

filled in 18 minutes. After how much time of the 

start was the first pipe stopped?

 

(a)  5 minutes  (b) 8 minutes 

(c) 10 minutes  (d) 12 minutes 

39. 12 pumps working 6 hours a day can empty a 

completely filled reservoir in 15 days. How 

many such pumps working 9 hours a day will 

empty the same reservoir in 12 days?

 

(a)  15   (b) 9 

(c) 10   (d) 12 

40. Two pipes A and B can fill a water tank in 20 

and 24 minutes respectively and a third pipe C 

can empty at the rate of 3 gallons per minute. If 

A, B and C are opened together to fill the tank in 

15 minutes, find the capacity of tank?

A B 

C 

A, B 

C 

 

(a)  180    (b) 150 

(c) 120   (d) 60 

41. If * is a digit such that 5824* is divisible by 11, 

then*equals: * 

5824* * 

 

(a)  2   (b) 3 

(c) 5   (d) 6 

42. 800 chocolates were distributed among the 

students of a class. Each students got twice as 

many chocolates as the number of students in the 

class. The number of students in the class 

was:

 

(a)  25   (b) 30 

(c) 35    (d) 20 

43. Thrice the square of a natural number decreased 

by four times the number is equal to 50 more 
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than the number. The number is:

 

(a)  4   (b) 5 

(c) 10   (d) 6 

44. A 2-digit number is 3 times the sum of its digits. 

If 45 is added to the number, its digits are 

interchanged. The sum of digits of the number 

is:

 

(a)  11   (b) 9 

(c) 7   (d) 5 

45. A number consists of two digits. If the number 

formed by interchanging the digits is added to 

the original number, the resulting number (i.e. 

the sum) must be divisible by

 

(a) 11   (b) 9 

(c) 5   (d) 3 

46. A number when divided by 5 leaves remainder 3. 

What is the remainder when the square of the 

same number is divided by 5?

 

(a)  1   (b) 2 

(c) 3   (d) 4 

47. A boy was asked to find 
 

 
 of a fraction. Instead 

of this he divided the fraction by 
 

 
 and got an 

answer which exceeded the correct answer by 
  

  
. 

The correct answer is:
 

 
 

 
  

  
 

(a)  
 

  
   (b) 

 

  
 

(c) 
 

  
   (d) 

 

  
 

48. Number 2, 4, 6, 8, 10….196, 198, 200 are 

multipled together. The number of zeros at the 

end of the product on the right will be equal 

to: 2, 4, 6, 8, 10….196, 198, 200

 

(a)  21   (b) 22 

(c) 24   (d) 25 

49. If two numbers x and y separately divided by the 

same number d remainder obtained is 2361. The 

value of number d is: x y 

d 

     d 

d 

 

(a)  7361   (b) 5000 

(c) 4000   (d) 2542 

50. The product of two numbers is 120 and the sum 

of their squares is 289.The sum of the two 

numbers is:

 

(a)  23   (b) 7 

 (c) 13   (d) 169 

 
51. 42 women can do a piece of work in 18 days. 

How many women would be required to do the 

same work in 21 days ?/

 

(a) 36   (b) 24 

(c) 30   (d) 44   

52. 8 men can complete a piece of work in 20 days. 

8 women can complete the same work in 32 

days. In how many days will 5 men and 8 

women together complete the same work ?/

 

(a) 16 days/   (b) 12 days/  

(c) 14 days/   (d) 10 days/    

53. B and C together can complete a work in 8 days 

; A and B together can complete the same work 

in 12 days and A and C together can complete 

the same work in 16 days. In how many days 

can A, B and C together complete the same 

work ?/ B C 

A B

A C

A, B C 

 

(a)  
 

  
 days/   (b) 7

 

  
 days/  

(c)  
 

  
 days/   (d)  

 

  
 days/    

54. A and B together can complete a piece of work 

in   
 

 
 days while B and C together can 

complete the same work in   
 

 
 days. B is 25% 

more efficient than C. In how many days will A 

and C together complete the same work ?/ A 
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B   
 

 
 

B C

  
 

 
 B, C %

A C

 

(a)   
 

 
    (b)   

 

 
 

(c)   
 

 
   (d)   

 

 
 

55. If 12 boys or 15 girls can do a work in 48 days, 

in what time will 24 boys and 6 girls do twice 

the work ?/

 

(a) 42 days/   (b) 40 days/  

(c) 45 days/   (d) 30 days/    

56. Two taps can fill a tank in 20 min and 30 min 

respectively. There is an outlet tap at exactly 

half level of that rectangular tank which can 

pump out 100L of water per minute. If the outlet 

tap is open, then it takes 24 minute to fill an 

empty tank. What is the volume of the tank ?/

 

(a) 1800 L   (b) 1500 L 

(c) 1200 L   (d) 2400 L   

57. C is twice as efficient as A. B takes thrice as 

many days as C. A takes 12 days to finish the 

work alone. If they work in pairs (i.e., AB, BC, 

CA) starting with AB on the first day, BC on 

the second day and AC on the third day and so 

on, then how many days are required to finish 

the work ?/ C A B, C 

A 

AB, BC AC AB, 

BC AC

  

(a)  
 

 
 days/   (b) 4.5 days/  

(c)  
 

 
 days/   (d)   days/    

58. A pipe can fill a tank in 15 minutes and another 

pipe in 10 minutes. A third pipe can empty the 

tank in 5 minutes. The first two pipes are kept 

open for 4 minutes in the beginning and then the 

third pipe is also opened. In what time will the 

tank be emptied/

 

(a) 35 min/     

(b) 15 min/  

(c) 20 min /    

(d) data inadequate/    

59. A tap can fill a tank in 16 minutes and another 

can empty it in 8 minutes. If the tank is already 

1/2 full and both the taps are opened together, 

will the tank be filled or emptied ? How long 

will it take before the tank is either filled or 

emptied completely as the case may be ?/

 

(a) Emptied ; 16 min/  

(b) Filled ; 8 min/   

(c) Emptied ; 8 min/   

(d) Filled ; 12 min/  

60. Two men and 7 children complete a certain 

piece of work in 4 days while 4 men and 4 

children complete the same work in only 3 days. 

The number of days required by 1 man to 

complete the work is/

 

(a) 60 days/   (b) 15 days/  

(c) 6 days/   (d) 51 days/    

61. A, B and C enter into a partnership with capitals 

in the ratio 5 : 6 : 8. At the end of the business 

term, they received the profit in the ratio 5 : 3 : 

12. Find the ratio of time for which they 

contributed their capitals ?/ A, B C 

 

(a) 2 : 1  : 3  (b) 1 : 2 : 3 

(c) 2 : 3 : 1  (d) 3 : 2 : 1   

62. X and Y entered into a partnership, investing 

Rs. 16,000 and Rs. 12,000 respectively. After 3 

months X withdrew Rs. 5000, while Y invested 

5000 more. After 3 months more Z joins the 

business with a capital of Rs. 21,000. After a 

year they obtained a profit of Rs. 26,000. By 

what amount does the share of Y exceed the 

share of Z./ X Y
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X

Y

Z 

Y Z

 

(a) Rs. 3600  (b) Rs. 3800 

(c) Rs. 4600  (d) Rs. 4800   

63. A, B and C become partners in a business. A 

contributes 1/3
rd

 of the capital for 1/4
th
 of the 

time, B contributes 1/5
th
 of the capital for 1/6

th
 

of the time and C the rest of the capital for the 

whole time. If the profit is Rs. 1,820, then A’s 

share in profit is/A, B  C 

A  1/3
rd

  1/4
th
 

  B 1/5
th
  1/6

th
 

C 

A 

 

(a) Rs. 130  (b) Rs. 260 

(c) Rs. 292  (d) Rs. 304   

64. A and B started a business in partnership by 

investing Rs. 10,000 and Rs. 4000 respectively. 

Condition of partnership is that B got Rs. 100 

per month for management of the business. 

After paying 5% interest on the capital, annual 

profit has to be distributed in the ratio of their 

investments. Find the share of their profit, if the 

annual profit is Rs. 4000./A B 

B

%

 

(a) Rs. 3000 each  (b) Rs. 2500 each 

(c) Rs. 1500 each  (d) Rs. 2000 each   

65. A, B and C are partners in a business 

partnership A invested Rs. 4000 for the whole 

year. B invested Rs. 6000 initially but increased 

this invested upto Rs. 8000 at the end of 4 

months, while C invested Rs. 8000 initially, but 

withdraw Rs. 2000 at the end of 9 months. At 

the end of the year total earned profit is Rs. 

16950, find their share of profits./ A, B C

A 

B 

C 

 

(a) Rs. 3600, Rs. 6600, Rs. 6750 

(b) Rs. 2000, Rs. 3050, Rs. 5400 

(c) Rs. 2400, Rs. 2460, Rs. 1456 

(d) None of these   

66. In a college the number of students studying 

Arts, Commerce and Science is in the ratio of 3 

: 5 : 8 respectively. If the number of students 

studying Arts, Commerce and Science is 

increased by 20%, 40% and 25% respectively, 

what will be the new ratio of students in Arts, 

Commerce and Science respectively ?/

% % %

 

(a) 18 : 50 : 35  (b) 3 : 10 : 10 

(c) 4 : 8 : 5  (d) 32 : 35 : 25   

67. The ratio between the age of a father and a son 

at present is 5 : 2 respectively. Four years hence 

the ratio between the age of the son and his 

mother will be 1 : 2 respectively. What is the 

ratio between the present age of the father and 

the mother respectively ?/

 

(a) 3 : 4    

(b) (b) 5 : 4 

(c) 4 : 3    

(d) (d) cannot be determined   

68. If (a + b) : (b + c) : (c + a) = 7 : 6 : 5 and a + b + 

c = 27, then what will be the value of 
 

 
 : 

 

 
 : 

 

 
  ?/

(a + b) : (b + c) : (c + a) = 7 : 6 : 5  a + 

b + c = 27,  
 

 
 : 

 

 
 : 

 

 
   

(a) 4 : 3 : 6  (b) 3 : 4 : 2 

(c) 3 : 2 : 4  (d) 3 : 6 : 4   

69. In a class there are ‘z’ students. Out of them ‘x’ 

are boys. What part of the class is composed of 

girls ?/ ‘z’ 

‘x’ 

 

(a) 
 

 
   (b) 

 

 
 

(c) 1 - 
 

 
   (d) 

 

 
-    

70. Find two numbers such that their means 

proportional is 18 and the third proportional to 

them is 144./

 

(a) 6 and 42  (b) 9 and 36 

(c) 3 and 18  (d) 6 and 12  
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71. If x is subtracted from each of 23, 39, 32 and 56 

the numbers so obtained, in this order, are in 

proportion. What is the mean proportional 

between (x + 4) and (3x + 1) ?/ x 

(x + 4) 

(3x + 1)  

(a) 15   (b) 10 

(c) 12   (d) 14  

72. The railway fares of air conditioned sleeper and 

ordinary sleeper class are in the ratio `4: 1`. The 

number of passengers travelled by air 

conditioned sleeper and ordinary sleeper classes 

were in the ratio `3 : 25`. If the total collection 

was Rs. 37,000, how much did air conditioner 

sleeper passengers pay ?/

 

(a) Rs. 30,000  (b) Rs. 20,000  

(c) Rs. 24,000  (d) Rs. 32,000 

73. The ratio of total amount distributed in all male 

and female as salary is 6 : 5, while the ratio of 

salary of each male and female is 4 : 3. Find the 

ratio of number of male and female./

 

(a) 9 : 5   (b) 9 : 10 

(c) 7 : 5   (d) 7 : 9   

74. The ratio of the incomes of Ajay and Bina is 5 : 

4 and the ratio of their expenditure is 6 : 5. If 

the ratio of the savings is 7 : 5, what percentage 

of his income does Ajay save ?/

 

(a) 28%   (b) 25% 

(c) 30%   (d) 32%   

75. In an army selection the % of selected candidate 

was 60 %. If 70 more had applied and 50 less 

selected then the % of unselected candidate is 

60%. How many candidates had applied for the 

process ?/

 

(a) 390   (b) 480 

(c) 380   (d) 234  

76. The ratios of copper to zinc in alloys A and B 

are 3 : 4 and 5 : 9, respectively, A and B are 

taken in the ratio 2 : 3 and melted to form a new 

alloy C. What is the ratio of copper to zinc in C 

?/ A B

A B

C

C

 

(a) 27 : 43   (b) 8 : 13 

(c) 3 : 5   (d) 9 : 11   

77. In a vessel ratio of milk and water is 7 :3. When 

x liter milk is added then ratio of milk and water 

become 17 : 6 Now in this mixture 3.5 liter milk 

and 3 liter water is added then ratio of milk and 

water becomes 5 : 2. Find the value of x./

x

x

  

(a) 4 ltr   (b) 6 ltr 

(c) 8 ltr   (d) 2 ltr   

78. A drum contains 165 litres of ethanol. 44 litres 

of this liquid is removed and replaced with 

water. 44 litres of this mixture is again removed 

and replaced with water. How much water (in 

litres) is present in this drum now ?/

 

(a) 80.55   (b) 88.73 

(c) 76.26   (d) 71.66   

79. A shopkeeper has 100 kg of rice. He sells 25 kg 

at some profit and sell remaining part at 8% 

profit. If he earns 10% profit on whole 

transaction than find at what % profit he sells 25 

kg rice./

 

(a) 15%   (b) 16% 

(c) 20%   (d) 18%   

80. A trader has 760 kg of rice, a part of which he 

sells at 13% profit and the rest at 7% loss. He 

gains 4% on the whole. How much was sold at 

13% gain ?/
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(a) 418 kg   (b) 342 kg 

(c) 380 kg   (d) 437 kg 

81. 8L solution is removed from a 20% milk 

solution and 8L of water is added to the 

solution. The resulting solution has 16% milk in 

it. What was the initial quantity of the 20% milk 

solution ?/ % 

%

 

(a) 40 L   (b) 60 L 

(c) 48 L   (d) 80 L 

82. In the given fig. if AB = AC = 8cm, BC = 

11cm, BD = 7cm AD = ?/

AB = AC = 8cm, BC = 11cm, BD = 7cm 

AD = ? 

                     

(a) 6 cm   (b) 5.5 cm 

(c) 4 cm   (d) 7 cm   

83. In isosceles   ABC, AB = AC = 17cm, D B any 

point on BC such that AD = 15 cm and CD = 4 

cm then find length of BD ?/   ABC

AB = AC = 17 BC D 

AD = 15   CD = 4 BD

 

(a) 14 cm   (b) 16 cm 

(c) 15 cm   (d) 16.2 cm   

84. ABC is right-angled triangle, right angled at B. 

D is a point on AC such that AD = 12 cm and 

CD = 16 cm, if BD bisects   ABC then the 

perimeter of   ABC will be :/ ABC 

B AC D 

AD = 12 CD = 16  

BD, ABC 

ABC  

(a) 66 cm   (b) 56.2 cm 

(c) 66.2 cm  (d) 67.2 cm   

85. In   ABC, AD the bisector of   A, meets BC at 

D, If BC = a, AC = b and AB = c, then BD – 

DC = /  ABC   A AD

BC D BC = a, AC = b

AB = c BD – DC 

 

(a) 
  

   
(b)

      

 - 
 

(c)  
   -  

   
   (d) 

  

  
 

86. In  ABC,   B = 90
0
, AB = 8 cm and BC = 15 

cm. D is a point on BC such that AD bisects 

  A. the length (in cm) of BD is /  ABC   

B = 90
0
, AB = 8 BC = 15  BC

D AD,    A

BD

  

(a) 4.5   (b) 4.8 

(c) 4.2   (d) 3.6   

87. A flag pole on the top of a mall building is 390 

m high. To an observer at a height of 1280 m, 

the mall building and the pole subtended equal 

angle  . If the height of the mall building is 890 

m, then find the horizontal distance (in m) of the 

observer from the pole ?/

 

(a) 712 m   (b) 668 m 

(c) 624 m   (d) 612 m   

88. In the given fig. PR = QS = QR. Find    ?/

PR = QS = QR,   

 

(a) 90
0
    (b) 120

0
  

(c) 110
0   

(d) 125
0
 

89. In the triangle PQR, S and T are two points on 

sides QR and PQ respectively such that QS = 

ST, PS = PR and    PRQ –    QPS = 44 then 

find the   QST ? / PQR QR

PQ S T

QS = ST, PS = PR    PRQ –    QPS = 44 

  QST  

                  

(a) 88   (b) 92 

(c) 69   (d) 122  

90. An equilateral triangle BPC is drawn inside a 

square ABCD what is the value of   APD in 

degrees ?/ BPC

  APD  
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(a) 90
0   

(b) 120
0
 

(c) 135
0

(d) 150
0

 

91. An equilateral triangle ABE is drawn on the 

side AB of a square ABCD. Equilateral triangle 

is outside the square. Line DE and diagonal AC 

intersects each other at point O. find   COD 

?/ ABE, ABCD

AB DE

AC O

  COD  

(a) 45
0

(b) 60
0

 

(c) 75
0
   (d) 90

0
 

92. If AB   CD then find the value of           

?/ AB   CD          

 

(a) 180
0

(b) 270
0
 

(c) 360
0   

(d) 240
0
 

93. What is the value of x in the fig given below 

?/ x  

 

(a) b – a – c   (b) b – a + c 

(c) b + a – c  (d)   – (a + b – c)   

94. The last digit of the expression :/

 

4 + 9
2
 + 4

3
 + 9

4
 + 4

5
 + 9

6
 + ……….4

99
 + 9

100
 is : 

(a) 0   (b) 3 

(c) 5   (d) none of these   

95. Find the unit digit of 1! + 2! + 3! + 4! + 5! + 

……3333! ?/ 1! + 2! + 3! + 4! + 5! + ……3333! 

 

(a) 1   (b) 9 

(c) 3   (d) 4 

96. Find the digit in the thousands position of            

5
3
* 2

1001
/5

3
* 2

1001 

 

(c) 2     (b) 4             (c) 0            (d) 8  

97. The rightmost non-zero digit of the number 

30
2928

 ?/ 30
2928 

 

(c) 1   (b) 3                 (C) 7           (d) 9  

98. The digit in unit’s place of the product 81 x 82 x 

83 ……….89 is/81 x 82 x 83 ……….89 

  

(c) 0    (b) 2         (C) 6       (d) 8    

99. 
 

   
 + 

 

    
  

 

     
     

 

       
    

(a) 
  

   
   (b) 

  

   
 

(c) 
  

   
   (d) 

  

  
 

100. Evaluate :  
 

  
  

 

  
  

 

  
  

 

  
  

 

   
 

(a) 
 

  
   (b) 

 

  
 

(c) 
 

  
   (d) 
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1. B 16. D 31. B 46. A 61. A 76. A 91. C 

2. B 17. A 32. D 47. B 62. A 77. B 92. C 

3. B 18. C 33. A 48. C 63. B 78. B 93. A 

4. B 19. A 34. B 49. B 64. A 79. B 94. A 

5. C 20. C 35. D 50. A 65. D 80. A 95. C 

6. B 21. B 36. C 51. A 66. A  81. A 96. B 

7. C 22. C 37. D 52. A 67. B  82. A  97. A 

8. D 23. C 38. B 53. B 68. A 83. B 98. A  

9. A 24. C 39. C 54. A 69. C 84. D 99. C 

10. D 25. D 40. C 55. B 70. B 85. C 100. C 

11. C 26. A 41. C 56. A 71. C 86. B 

12. C 27. D 42. D 57. C 72. C 87. C 

13. D 28. C 43. B 58. C 73. B 88. A 

14. C 29. D 44. B 59. C 74. A  89. B 

15. D 30. D 45. D 60. B 75. A 90. D 


